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31 30k 2011/3/23 1143 |  2011/4/7 10:27 5726 2011/4/8 11:00 5977 24 33
(10.2 paSv/ )
32 30k 2011/3/23 1214 | 2011/4/7 10:45 12820"0 | 2011/4/8 11:20 13400 ™ 24 35 580
(23.6 paSV/ )
33 30k 2011/3/2312:32 |  2011/4/7 11:05 75111 | 2011/4/8 1135 7838 1 24 30 327
(13.3 paSv/ )
34 30k 2011/3/23 1308 | 2011/4/7 12:09 2654*1 | 2011/4/8 12:26 2779 11 u 17 125
(5.1 paSv/ )
38 35k 2011/3/31 1623 | 2011/4/7 12:28 204" | 2011/4/8 11:46 216 "1 23 18 12
(0.5 paSv/ )
7 25k 2011/3/23 1300 | 2011/4/7 13:30 6391 | 2011/4/8 13:05 656 *1 23 35 17
(0.7 paSv/ )
79 30k 2011/3/23 1409 | 2011/4/7 11:33 60181 | 2011/4/8 1156 6301 1 24 23 283
(11.6 paSv/ )
*1 *1
7 45k 2011/3/23 1206 | 2011/4/7 11:35 368 2011/4/8 11:40 384 24 05 16
(0.7 paSv/ )
1 60k 2011/3/24 1520 | 2011/4/7 15:08 301°1 | 2011/4/8 15:56 41471 24 18 23
09 pusv/ )
15 35k 2011/3/24 1058 | 2011/4/7 11:06 600°1 | 2011/4/8 11:00 631 1 23 54 310
(1.3 paSv/ )
84 40km 2011/3/25 1040 | 2011/4/7 10:18 78"t | 2011/4/8 10.04 g2t 23 46 4
©02usv/ )
39 45 2011/4/110:45 | 2011/4/7 10:40 114*1 | 2011/4/8 10:47 130 1 u 07 16
(0.7 paSV/ )
76 20km 2011/4/2 11:35 | 2011/4/7 11:39 64°t | 2011/4/8 11:41 777 4 02 13
(0.5 paSv/ )
80 25km 2011/4/3 11:56 | 2011/4/7 1157 61°0 | 2011/4/8 12:19 75 u 2 14
(0.6 paSv/ )
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